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2 151 JH B’ MIAhk 2 2 2 2 50.319
3 148 F85 EX JIl#EsSSsC 1 1 3 13 50.584
4 158 Bt HRih tHERSSC 1 2 4 8 52.830

HRRE 5 157 Rk B fHE[RSSC 2 3 51.175
6 142 5% BEH AX2T4H/SC 2 3 56.949
7 1471 FHk —8& ZHSSC 1 4 50.689
8 150 ¥F FK JIl#EsSSsC 2 4 52.019

FiE 9 154 ¥ FifE WEIST 3 52.831
10 144 1§)I] %K EIXEmHR 3 52.921
1 141 5@ miE —=HHSC 3 54.793
12 146 #LE AN Z4N1SSC 3 58.846
13 156 A FE tHE[ESSC 4 53.046
14 143 EH B2F AX=T4H/SC 4 57.377
15 152 [R F# WEIST 4 1.00.645
16 149 #H [E JIl#EsSSsC 4 1.05.839
17 145 1§)Il #& ETEmHE 5 1.00.837
18 153 BRZE AF HEIZT 5 1.01.585
19 160 #5K F04& tHE[ESSC 5 1.05.810
20 159 By EiE HHEESSC 5 1.06.008
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2 148 F8B EX JIl#EsscC 21 1.46.813
3 158 BB %1113 AR SSC 13 1.47.064
- 147 FXk —H EXISSC Penalty
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1 147 Fxk —8 Z4ISSC 145179 Q
2 148 FEB EX JI#EsSsc 146985 Q
3 151 @ 2 MIAk 1.47.291
4 157 HiE B tAHERSSC 1.54.116
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1 155 &Ejh E— AR SSC 144205 QCR
2 158 EiE ZH‘ith tEtERSSC 148500 Q
3 149 E E Jssc 1.48.626
4 150 WiE FK JIl#ESSsC 1.48.758
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1 148 TE BEX Jil#kSSC 149387 Q
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3 154 & FiE HEYST 1.49.876
4 143 EH 7 ARX=T4H/SC 1.56.914
5 153 BERE A% HEIST 2.06.762
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1 147 Tk —& FHSSC 142574 QCR
2 151 SR &Z MIA+ 147160 Q
3 141 AHA mKIE —EHhHSC 2.02.820
4 160 £iK FO# tAERSSC 2.32.000
- 146 HLE I™EAN BAISSC DNS
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EIE No. K% g 7R 24 Ls 5=
1 158 HiE b tHHERSSC 148948 Q
2 149 #HA [E JilESsSsC 149033 Q
3 156 Hf FE tHERSSC 1.49.159
4 144 1Bl %K ELXETHE 1.49.291
5 159 BRIk EiE HIEJRSSC 2.16.445
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1 155 FEjh E— tHHERSSC 143787 QCR
2 150 #MiE FK JIlfEsscC 151426 Q
3 142 R¥H BEH A4X=T4H/SC 1.58.751
4 145 Bl T EXETHSE 2.07.310
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RIS 1 155 Ejh E— tHIEERSSC 1T 1 1 34 1.43.787
2 148 F85 EX JIl#ESSC 1 2 2 21 1.46.813
3 158 B HRith tHHERSSC 1 2 3 13 1.47.064
4 147 FHXK —8B ZHSSC 1T 1 penaty 1.42.574
#ERME 5 151 ShH 2 MIAhk 2 3 1.47.160
6 149 #H [F JIl#EsSSsC 2 3 1.48.626
7 150 3 F FKX JIl#EssC 2 4 1.48.758
8 157 Bk E& fHE[RSSC 2 4 1.49.635
FiE 9 156 At FHEE fHE[RSSC 3 1.49.159
10 154 % FifE WEIST 3 1.49.876
11 142 7% BEH AX2T4H/SC 3 1.58.751
12 141 5@ HiE —=HHSC 3 2.02.820
13 144 18)1l %KX ETEmHS 4 1.49.291
14 143 EH B2F AX=T4H/SC 4 1.56.914
15 145 i§)Il & ETEmHE 4 2.07.310
16 160 #5K F04a tHE[ESSC 4 2.32.000
17 153 BRZE A& HEYTT 5 2.06.762
18 152 [R WEIST 5 2.11.574
19 159 B EiE tHE[ESSC 5 2.16.445
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1 155 FEjh E— fHE[RSSC 102 3 1 234777 (341 (341 BH1
2 148 F85 EX JIlfEsSscC 55 7 2 236176 (21)2 (13)3 (21)2
3 151 JBH f’E MIAhk 34 10 2 238323 (13)3 (21)2 5
4 158 BEiE ZHRith tHEFRESSC 29 11 3 241742 (84 (8)4 (13)3
5 149 #H [F JIlfEsSscC 5 27 5 244229 (5)5 16 6
6 147 F/Xk —& ZHSSC 3 17 4 233965 (3)6 7 4
7 157 Kk B& fHE[RSSC 20 5 245718 7 5 8
8 150 #iE FK JIlf#EsscC 23 7 2.45.986 8 8 7
9 154 ¥ FifE HEYSD 28 9 250513 9 9 10
10 142 7% EEH AX2T49/SC 29 6 255998 12 6 11
11 156 A FE fHE[RSSC 32 9 250855 10 13 9
12 141 5@ HiE —=HHSC 34 11 2.52.834 11 11 12
13 144 18)1] 3K ETEHHE 38 10 3.12.171 15 10 13
14 143 EH 58 AX=T4H/SC 42 14 2.59.981 14 14 14
15 145 15)Il & ETEHHE 48 15  3.04.304 16 17 15
16 152 & WEIZT 50 15  3.12.340 17 15 18
17 153 BRZE AF HEYTD 53 17 3.14.118 18 18 17
18 160 #5AK Fn4d HE[RSSC 54 16  3.28.149 19 19 16
19 159 Bif EiE fHE[RSSC 59 19 345916 20 20 19
146 # £ FRMEAN ZHNISSC 2.57.786 13 12
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3 26 KH THE JIl#ESSC 2 3 13 3.05.135

4 22 ER BE ZHESSC 2 4 8 3.17.729
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RIS 1 23 KE BF AX2T4H/SC 1 1 34 57.900

2 24 FHAE RS JIlIAssc 1 2 21 58.108

3 26 KH THE JIl#ESSC 2 3 13 59.748

4 22 ER BE ZHESSC 2 4 8 1.04.090
FiE 5 25 8RE Fih JIl#ESSC 3 1.10.450

6 27 #FH ETE JIl#ESSC 3 1.11.357

7 29 Esh H tHHERSSC 4 1.11.744

8 28 +H ME JIl#EsSSsC 4 1.22.081
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4 22 ER BE ZHESSC 2 4 8 2.13.372
FiE 5 25 8RE Fih JIl#ESSC 3 2.25.213
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2 24 FH IS JiiIlssc 55 7 2 302797 (212 (21)2 (13)3
3 26 KH JIlfEsSscC 47 8 2 305135 (13)3 (13)3 (21)2
4 22 EHk BE ZHESSC 24 12 4 317729 (84 (8)4 (8)4
5 29 Eih H tHEFRESSC 18 5 3.41.122 5 7 6
6 27 #FH ETE JIlfEsSscC 19 6 3.44.919 6 6 7
7 25 fRE F5h JIlfEsscC 18 5 8 5 5
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2 86 HH WH HEDZD 314724 Q
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4 96 M #X HHIERESSC 5.11.472

5 90 & £ HEIST 5.26.485
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RIS 1 81 /hjith Fms AX2T4H/SC 1 1 34 2.49.504
2 95 LUk FESR fHE[RSSC 1 2 21 2.51.007
3 94 Lk FnE fHE[RSSC 2 3 13 2.55.305
4 82 KPP & AX2T4H/SC 1 4 8 3.05.809
5 86 HH WH WEIST 2 5 5 3.09.533
6 92| HE WEIST 2 6 3 3.12.554

& 7 8 H —iF JIl#EssC 3 3.13.704
8 88 mlll &M WEIST 3 3.25.268
9 9l Bk E WEIST 3 3.29.518
10 84 LA #F Jiassc 4 3.33.161
11 93%ET & WEIST 4 3.55.801
12 96 A #X tHHERSSC 4 5.11.472
13 83 EH Hth AX2T4H/SC 5 3.42.992
14 89 &f KX HEIZT 5 4.27.162
15 90 & &K#k HEYTT 5 5.26.485
16 87 & {h# WEIST 6 4.07.957
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3 82 KPY FRE& ARX2T4H/SC 58.665
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1 82 KPY FREK A41RX2T4H/SC 58.684 Q
2 86 FHiH HE HEIZT 102171  Q
3 83 EH Ht A X3F49/SC 1.11.756
4 96 HEF ®X tHIEESSC 1.27.324
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1 95 Lk FEE tH[RSSC 57.598 Q
2 85 tH —iF JilgEssc 1.03.111 Q
3 84 O #HE Jimssc 1.05.434
4 920 BFE X% HEIZT 1.30.127
KE ;|
EIE No. K4 & Ba 4L [EE
1 81 /h\ith T ARXITH/SC 53.913 Q CR
2 91 FE E HEIZT 55.175 Q
3 88 Tl &M EEISD 1.08.993
4 87 R {h# HEIZT 1.20.850
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1 94 Lk FE tAHEESSC 59.467 Q
2 922 H &K HEDZT 106338 Q
3 93 AT %% EEISD 1.16.070
4 89 &RFE KX¥ HEITT 1.36.135
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RIS 1 81 /hjith Fms AX2T4H/SC 1 2 1 34 53.580
2 9l Bk E WEIST 2 1 2 2 53.794
3 95 LUk FES HE[RSSC 1 1 3 13 54.977
4 94 ik TN fHE[RSSC 1 2 4 8 57.313

R 5 82 K MK AX2T4H/SC 1 3 58.665
6 85 tH —iF JIgssc 2 3 1.02.149
7 86 HH WE WEIST 2 4 59.032
8 92| WEIST 2 4 1.03.749

FiE 9 84O HFE JilIAssc 3 1.05.434
10 88 Il &M WEIST 3 1.08.993
11 83 EH ;th AX2T4H/SC 3 1.11.756
12 93 AT & WEIST 3 1.16.070
13 87 R {h# WEIST 4 1.20.850
14 96 A #X FHEFESSC 4 1.27.324
15 90 &R &#k HEIZT 4 1.30.127
16 89 &f KX HEIZT 4 1.36.135
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3 86 FHH HE EEYTT 2.00.056
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2 92 B & EEITT 218568 Q
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4 89 &R X EEITT 2.59.620
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1 94 |k FE HIERSSC 201450 Q
2 86 FHi HE EEITT 206052 Q
3 93 AT & HEIZT 2.35.984
4 87 R (At HEIZT 2.36.311
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EIE No. K4 g Bga A4L EE
1 91 FE & BEITT 201016 Q
2 82 KP9 R ARITH/SC 2.07.418
3 83 =M Hith ARX3F745/SC 2.33.815
4 96 HF ®BX tAHEESSC 3.10.598
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EE No. K4 g B/a BA L EE
1 81 /it T A1RXIT4H/SC 159500 Q
2 85 TH —iF Jil#EsscC 211206 Q
3 88 Tl EM EEISD 2.20.257
4 90 B K& EEISD 4.08.321
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RIS 1 81 /hjith Fms AX2T4H/SC 1T 1 1 34 1.50.854
2 95 LUk FESR fHE[RSSC 1 2 2 21 1.51.167
3 9l Bk E WEIST 1 2 3 13 1.53.169
4 94 ik TN fHE[RSSC 1 1 4 8 1.59.764

ERB 5 86 HH WEH WEIST 2 3 2.00.056
6 82 KM g AX2T4H/SC 2 3 2.06.341
7 8 H —iF JIl#EssC 2 4 2.10.649
8 92| WEIST 2 4 2.14.944

FiE 9 88 mlll &M WEIST 3 2.20.257
10 84 O #F JilIAssc 3 2.31.955
11 83 EH ;th AX2T4H/SC 3 2.33.815
12 93 AT & WEIST 3 2.35.984
13 87 R {h# WEIST 4 2.36.311
14 89 &f K HEIST 4 2.59.620
15 96 A #X HHEFESSC 4 3.10.598
16 90 &R &#k HEIZT 4 4.08.321

Loxl)—

C-RXFa7—F




BR IESIFE (S IESL)
(a—kboYoRE)

FREARFEFYLUDHY T a— b SYIRE—R R —MNEFHEXRER

INFEEPSE BF

B No K4 g BE SF IBfIA ®EEE T ER8% ©)1500m (p)500m (p)1000m i
1 81 /hth wast AX2T49/SC 102 3 1 249504 (341 (341 (341
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3 91 BBk E WEYSD 34 14 2 329518 9 (212 (13)3
4 94 1L FE fHE[RSSC 29 11 3 255305 (13)3 (8)4 (8)4
5 82 KPP & AX2T49/SC 8 15 4 305809 (8)4 5 6
6 86 HH WE WEYSD 5 17 5 309533 (55 7 5
7 92F &R HEVSD 3 22 6 312554 (3)6 8 8
8 85 tH —iF JII#ESSC 20 6 3.13.704 7 6 7
9 88 mlll &M HEYSD 27 8 3.25.268 8 10 9
10 84 luO Jlgossc 29 9 3.33.161 10 9 10
11 83 EH mWth AX2T4H/SC 35 11 342992 13 11 11
12 93 AT & HEYSD 35 11 3.55.801 11 12 12
13 96 A #X tHfEESSC 41 12 5.11.472 12 14 15
14 87 & {h# WEIZT 42 13 4.07.957 16 13 13
15 89 &R X# HEYTD 44 14 4.27.162 14 16 14
16 90 &f £X#k HEYTD 46 15 5.26.485 15 15 16
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6 57 JKE %8 A1AX2TYH/SC 3 2.38.469
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FEEESRE XF 1500m
¥ = 34 H Efi2

148

EE No. K% FiiE Ba AAL EE
1 63 Fith fhtl INE R 240670 Q

2 61 &8 & Jlgssc 240770 Q

3 58 EH B IZPESC 2.45553

4 59 FEIHE RKE FHISSC 2.46.025

5 64 LUE EBEF INTFFREFER 2.58.760

6 53 EM FH ZHmESSC 2.58.915

248

&g No. K% FiiE Ba BAL  EE
1 52 FH# ﬁ% —=HHSC 235417 QCR
2 57 K¥ %8 ARX3IT4H/SC 237817 QCR
3 56 H ﬂiﬂ’ﬂ RIEFZHR 2.45.416

4 54 dtiFE ¥ EAEER 3.07.182
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& IE No. K4 & leds) 24 L ik
1 62 Zith K RIS 235884 QCR
2 55 /Nt RE RIE 2R 240309 Q

3 65 #WE Cav7 BT mMEPER 242576

4 60 Ok KEZE Z401SSC 2.42.683

5 51 #K TESH —=HHSC 2.55.962
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h24EERE ZF 1500m

592K B No K% il B FP BX = BO BX BE

RIS 1 62 &M #K RIS’ 1 1 34 2.31.417
2 63 Fith fZL INEBHRER 1T 2 21 2.32.079
3 52 FH HWE —E=fhHSC 1 3 13 2.32.273
4 55 Ihith {HZ R 2 4 8 2.33.924
5 61 &8 & JIl#ESSC 2 5 5 2.34.096
6 57 KE ¥ AX2T4H/SC 2 6 3 2.37.817

FiE 7 65 MEB CavrTEF B ER 3 2.42.576
8 56 HF BEMA RIEFER 3 245416
9 58 EH Bz I=PESC 3 2.45.553
10 60 i KREZE ZHSSC 4 2.42.683
11 59 ENHE AK3E FASSC 4 2.46.025
12 5448 ¥ RN 5% 4 3.07.182
13 51 $iK fE5 —=EmhHESC 5 2.55.962
14 64 L BEF INTFREFER 5 2.58.760
15 53 B FH ZHmESSC 6 2.58.915

Loxl)—

C-RXFa7—F




2R IEEEE (52 EHD
Ca—FrFSY TR

EUBEEHEFrLUSAYT L a—rSUIRE—RRY—MEFIEARS k2210838
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b= ] No. K% FiE Ba A4 Ls BE%E
1 62 Zith @K FRISHK 34 47.747 CR
2 63 Zith ffixl INEBRER 21 47817 CR
3 61 %85 & JIl#SSC 13 47925 CR
4 55 It {RE RIgEhZER 8 48.143 CR
EUBEEHEFrLUSAYT L a—r I RE—RR—MEFIEAS TRR22%E10A38
b4 ERAE LF 500m
Z 2- A 2
148
EE No. K% E 7R 24 L ik
1 63 Zith fnxl INBRER 48042 Q CR
2 55 hith RS RIEF R 48.222 Q CR
3 60 I REBEE FHISSC 50.438
4 58 EHA B I&HESC 53.679
248
EE No. K% E Fa 24 L ik
1 62 Zith ®K FRILER 47426 Q CR
2 61 &85 & JIl#ESSC 47551 QCR
3 57 JKE ¥ A4X2TY/SC 50.073
4 64 ILiE BEF I\TFFEh 2R 51.863
FBEERFEFrLUCHYTLa—rNIvIRE—R Ry —NEFIERS ER22510A3H
hip A E R ZF 500m
FiE 4 2
148
EE No. K% E #/a 24 L ik
1 57 JKEF ¥E5 A X3F49/SC 50.479 Q
2 64 LUiE EBEF INTF PR 51.713 Q
3 59 ENA M= FBAISSC 51.811
4 52 i BEE —EfhHSC 55.555
248
EE No. K% E B/a 24 Ls B=
1 61 AEBE & JII#ESSC 48.938 Q
2 55 it {RE RIUE L 48.988 Q
3 54 JtiE ¥ [FEANE = oA 50.828
4 51 #K TEH —=BfHSC 58.315
|
&l No. K% iE ga AL iBE
1 63 Fith fhil INEB R 49.093 Q
2 60 Ik KRB EHSSC 50.268 Q
3 65 B a7y rBEF EiRhER 50.645
4 53 EM FH ZHESSC 56.019
448
&I No. K% iE Bga AL BE
1 62 Ft @K FRILER 48.368 Q
2 58 EH B I3PESC 49531 Q
3 56  H$ B RIEFZR 1.08.998
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59 R JERL No K4 i JIE 5z FP X o LK EE

RIS 1 62 &M #K RIS’ 1T 1 1 34 47.426
2 63 Fith fZL INEBHRER 1T 1 2 2 47.817
3 61&8 & JIl#EsSSsC 1 2 3 13 47.551
4 55 Ihith {HZ RIEFER 2 2 4 8 48.143

HRME 5 57 KT EH AX2T4H/SC 1 3 50.073
6 60k REIZE ZHSSC 2 3 50.268
7 58 EH B I=PESC 2 4 49.531
8 64 LiH EBEF INTFRERER 2 4 51.713

FiE 9 65 ME Tar TEF MEPERK 3 50.645
10 54 b8 % RN 5% 3 50.828
11 59 FIE RE ZASSC 3 51.811
12 56 H ExR R 3 1.08.998
13 52 FH #H=E —=EHhHESC 4 55.555
14 53 BEM FH ZHESSC 4 56.019
15 51 #iK fE5 —=EHhHESC 4 58.315
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EE No. K% mE 72 24 Ls BZE
1 62 Zith @K FRISHK 34 1.39.044 CR
2 63 Fith fHzL INEBRER 21 1.39.099 CR
3 61 %85 & JIl#SSC 13 1.39.299 CR
4 52 FH BEE —EhHASC 8 1.42.267
EUBEEHEFrLUSAYT L a—r I RE—RR—MEFIEAS TRR22%E10A38
b ERE ZF 1000m
Z2E7 n \, 2
148
EE No. K% E 7R 24 L ik
1 62 Zith ®K FRILER 144182 Q
2 52 FH BHE —EfHSC 1.46.091 Q
3 54 dtiE ¥ [FAEANE =Y oA 1.46.191
4 57 KB ¥EE AX2TY/SC 1.46.354
248
EE No. K% E B 24 L ik
1 63 Fith fmzL INBRER 139350 QCR
2 61 &85 & JIl#ESSC 1.39.749 QCR
3 65 #WE a7 BT EHROER 141772
4 56 HH BRMA RIEdh =iz 1.43.107
FBEERFEFrLUCHYTLa—rNIvIRE—R Ry —NEFIERS ER22510A3H
hEEFRAE ZLF 1000m
FiE 4 2
148
EE No. K% E B 24 L ik
1 61 HBE & JI[#&SSC 141312 Q
2 57 JKEF ¥EE A X3F49/SC 141458 Q
3 64 LUiE EBEF INTFREDRER 1.47.231
4 51 #K fEH —=HHSC 1.56.590
248
EIE No. K% iE Ba 24 L BE
1 52 FH BEE —=hHSC 140934 Q
2 54 JtiE ¥ [FEANE R oA 141090 Q
3 59 ENA M= E4ISSC 1.42.997
- 55 Iphth RS RIEdh =R Penalty
|
&l No. K% iE Ba EEPN iBE
1 62 Ft @k FRILER 1.36.235 QCR
2 65 B a7y rBEF EiRhER 145425 Q
3 58 EH B ISP ESC 1.51.059
448
&I No. K% iE Ba B4 L BE
1 63 Zgith fmzl INERER 147583 Q
2 56  H$ BEiA RIEFER 150225 Q
3 60 Ik REBIE EHSSC 1.50.280
4 53 EM FH ZHESSC 1.55.202
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59 R JERL No K4 i JIE 5z FP X o LK EE
RIS 1 62 &M #K RIS’ 1T 1 1 34 1.36.235
2 63 Fith fZL INEBHRER 1T 1 2 2 1.39.099
3 61&8 & JIl#EsSSsC 1 2 3 13 1.39.299
4 52 FH HWE —=EfhHSC 1 2 4 8 1.40.934
ERBE 5 541F ¥ AR 5 2 3 1.41.090
6 658 Tav uFEF BRPEKR 2 3 1.41.772
7 57 KE¥ ¥ AX2T4H/SC 2 4 1.41.458
8 56 HF BEMA RIEFER 2 4 1.43.107
FiE 9 59 FIA RE FASSC 3 1.42.997
10 64 W@ BEF INTFRERER 3 1.47.231
11 6088k REE ZHSSC 3 1.50.280
12 58 EH B# I=PESC 3 1.51.059
13 53 M F5 ZHESSC 4 1.55.202
14 51 #iK fE5 —=EHhHESC 4 1.56.590
15 55 /hith fEX Elgth=g Penalty
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IIESE No K4 TiE BE SF IBRAE BEEs ESER8E ©1500m (p)500m ()1000m  {EZE
1 62 &t #AK RIS 102 3 1 231417 341 31 301
2 63 Fith HzL INEBHRER 63 6 2 232079 (21)2 (21)2 (21)2
3 61&8 & JIlfEsSscC 31 11 3 234096 (55 (13)3 (13)3
4 52 FEH HE —&EfhHSC 21 20 3 232273 (13)3 13 (8)4
5 55 /Nt {HZ FI& =g 16 23 4 233924 (8)4 (8)4 15
6 57 KE ¥E AX2T49/SC 3 18 5 237817 (3)6 5 7
7 65 B CavurEF MHPER 22 6 242576 7 9 6
8 541t % AR 5 27 5 3.07.182 12 10 5
9 60k KREBE FE4ISSC 27 6 242683 10 6 11
10 58 EH B# IEPESC 28 7 245553 9 7 12
11 56 A RO R 2 28 8 245416 8 12 8
12 59 FIE RL3*E FAISSC 31 9 2.46.025 11 11 9
13 64 W BEF INTFRERER 32 8 2.58.760 14 8 10
14 51 $iK fE5 —=EmHESC 42 13 2.55.962 13 15 14
15 53 EM FH ZHESSC 42 13 258915 15 14 13
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& I8 No. K% & a8 24 L ikl
1 190 Fik 1% HIERSSC 34 2.29.575
2 192 Xk = fAIE/ESSC 21 2.30.058
3 183 UjE XKBA INBER 13 2.30.252
4 184 BT E INBER 8 2.30.969
5 167 HH kK& —EHHSC 5 2.36.062
6 161 #&IL XKF e a2l 3 3.21.268
FBEERFEFvLUSHYTLa— SYIRE—RRr— NBRFEAS 224108 3H
¢+$F%‘=$ g% 1500m
EHi2
148
EE No. K4 FiiE Ba AAL EE
1 184 AT E INBER 226953 Q
2 192 HFik B HHIERSSC 227756 Q
3 162 E8 13 HIKRESSC 2.28.692
4 185 Zih K [Fapsdast=at iy 2.33.283
5 189 Fith Lt HEIST 2.38.192
6 163 ®EE = e EER 2.49.878
248
&g No. K% g Ba BAL  EE
1 183 |U;E KEH INBER 234422 Q
2 190 Fik 1% tHIEJRSSC 234576 Q
3 193 FT ﬂnjt fHIR[RSSC 2.34.670
4 179 =i El5 JIl#ESSC 240557
5 187 BRZE iR B R 2.47.402
6 180 A& {&H JIl#ESSC 3.01.379
348
& IE No. K4 g leds) 24 L ik
1 161 #L X&H Eapifeadiain=aud 228735 Q
2 167 HH KE —=EHhHASC 231510 Q
3 186 #FHith HF B AR 2.32.220
4 191 =H B}Xt fHHE[RSSC 2.45.184
5 181 ¥ Eth JIEsSSsC 2.50.559
- 177 a8k B= Z4SSC Penalty
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&l No. K% & Ba BAL  EE
1 185 Zgith KX AP ER 229993 Q
2 191 =HH B}Xt tHHE[ESSC 232656 Q
3 181 #H Et JI#ESSC 232820 Q
4 196 £F KARUvY FEEESSC 2.46.407

5 198 25 A HIERSSC 2.59.730

6 166 I st Liissc 3.06.715

24H

&ElE No. K% FilE Ba AAL EE
1 190 HiE 1% tHHE[ESSC 233487 Q
2 163 E¥ I e EER 234654 Q
3 189 Fith & HEDSD 234904 Q
4 172 EH B*$ JlIdssc 2.35.426

5 197 WA HEX HHIERSSC 2.50.369

6 165 /hith R ti#issc 3.04.106

- 175 1A E®H EFRAIESSC DNS
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EE No. K% FiiE Ba AAL EE
1 161 #L X#H Eipip=a =2 225984 Q

2 193 ®oTt MK tHHE[RSSC 226106 Q
3 180 A& f#ER JI#EsSSsC 226958 Q
4 164 U HRE Li#ssc 2.50.758

5 188 BRZE K B PR 2.57.799

6 171 M gE&X Jjigssc 3.22.020
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&g No. K% FiiE Ba BAL  EE
1 184 F=T E INBER 224004 Q
2 179 =& El: JIl#SSC 224437 Q
3 187 BRZE iR B R 226247 Q
4 194 =% #H HHE[RSSC 2.27.919

- 170 #FAX FR I&pFESC DNS
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& IE No. K4 & leds) 24 L ik
1 167 AH K& —=HHSC 229751 Q
2 186 ZFith HF B R AR 232459 Q
3 177 EE BXE Z4HSSC 232560 Q
4 174 M@ Bz FREIRSSC 2.41.781

5 182 &S —# JIEsSSsC 2.42.247

6 195 FH FiF HHERESSC 2.58.201
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&I No. K# FiE Ba BAL  EE
1 183 LB XBH INBER 226183 Q
2 192 HEik E HIERSSC 226531 Q
3 162 & I3 HIKRRSSC 228127 Q
4 173 K i EFREIESSC 241111

5 168 [ & ZHESSC 2.41.608

6 169 A 1EXER TEREA PR 2.48.444
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hEESRE BF 1500m

592K B No K% g JIE 152 FP BX 1= B0 BX BE
RIS 1 190 Fik 1% tHHERSSC 1 2 1 34 2.29.575
2 192 &k B fHE[RSSC 2 2 2 2 2.26.183
3 183 i@ KEA INBER 1 1 3 13 2.22.237
4 184 AT I INBER 1 1 4 8 2.24.004
5 167 HH kK& —=EHhHESC 1 2 5 5 2.29.751
6 161 f&IL X#F EsFicfealirn=rauid 1 1 6 3 2.25.984
HERRE 7 186 Zith HE B PR 2 3 2.32.220
8 193 Mt MK tHHERSSC 2 3 2.34.670
9 162 &8 1A HIRRSSC 3 3 2.26.531
10 185 Fith K B PR 1 4 2.29.993
1 179 =& E5 JIl#EsSSsC 2 4 2.24.437
12 191 & Bt fHE[RSSC 2 4 2.32.656
13 187 BRZE &K B R 3 5 2.26.247
14 181 #H Et JIlfEssC 3 5 2.32.820
15 189 Fith 4 HEYSD 3 5 2.34.904
16 163 B%f = EREEER 2 6 2.34.654
17 180 A& {#EH JIlfESSsC 3 6 2.50.758
18 177 ik B&= FHSSC 3 Penalty 2.32.560
& 19 194 ZFE 4 HHHEESSC 4 2.27.919
20 172 5@ [EF Jigssc 4 2.35.426
21 173 #AK ¥ FREESSC 4 2.41.111
22 174 #HA Gz FREESSC 4 2.41.781
23 196 £F KRARUVY +HERSSC 4 2.46.407
24 164 QL HHE Ligssc 4 2.50.758
25 168 [ &0 ZHmESSC 5 2.41.608
26 182 U —# JIlESsC 5 2.42.247
27 197 WA &KX tHE[ESSC 5 2.50.369
28 188 BERE [E RS GE=E 5 2.57.799
29 198 BH EA tHIERSSC 5 2.59.730
30 169 AE [EXER TREAFER 6 2.48.444
31 195 FH FEiE tHIERSSC 6 2.58.201
32 165 /pth R Li#gssc 6 3.04.106
33 166 )1l s Li#gssc 6 3.06.715
34 171 KM #EX Jigssc 6 3.22.020
175 #H E®R FEESSC DNS
170 A FR I&HdFESC DNS
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b= ] No. K% FiE Ba A4 Ls BE%E
1 183 U@ KHEA INBESR 34 44734
2 161 #EL KF B = F iR 21 45118
3 162 &2 RIKRSSC 13 45441
4 190 Fik 1% tEtEESSC 8 45.492
EUBEEHEFrLUSAYT L a—r I RE—RR—MEFIEAS TRR22%E10A38
b4 ERAE BF 500m
Z 2- A 2
148
EE No. K% E 7R 24 L ik
1 161 #IL KF BEEEEISSE 3 45076 Q
2 190 HFik 1% tAfEESSC 45.200 Q
3 184 BT = INBER 45316
4 191 5H B fAE[RSSC 58.503
248
EE No. K% E Fa 24 L ik
1 183 U@ KEA INBER 46.194 Q
2 162 &2 1 RIKRSSC 46.368
3 185 Zgith #HX R 46.995
4 192 HiEk & tAHERESSC 1.00.156
FBEERFEFrLUCHYTLa—rNIvIRE—R Ry —NEFIERS ER22510A3H
A ERAE BF 500m
£R 4 2
148
EE No. K% E #/a 24 L ik
1 191 5H B fHE[RSSC 46.194 Q
2 184 AT E INBER 46.290 Q
3 167 HAH K& —BEfHSC 46.776
4 187 BREZE & R 48570
248
EE No. K% E B/a 24 Ls B=
1 190 Higk 1K EHEJRESSC 45.743 Q
2 162 E#& 14 HRiKRSSC 46.029 Q
3 194 E@E $R tEfEESSC 46.723
4 193 Rt K HHEESSC 46.821
|
&l No. K% iE ga AL iBE
1 161 #U KF BEEEEICSE S 45.076 Q
2 183 U@ KBA INBER 45.189 Q
3 179 =& E5 JIl#ESSC 45650
4 180 AlE {E2EA JIl#ESSC 1.19.191
448
&I No. K% iE Bga AL BE
1 192 Hig & fHEESSC 46514 Q
2 185 Zgith FAK R 47113 Q
3 177 &% B= EBAEISSC 47.247
4 186 Fith HE R 48988
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EIB No. K% FiE Bga B4 Ls k=
1 162 &2 1 RIKRSSC 45.755 Q

2 193 ®IT finK tEtERESSC 47596 Q

3 168 [ E ZHESSC 50.203

4 164 FIU HE Li#issc 52.944

2#8

b= ] No. K% FiE e A4 Ls BE%E
1 184 BT B INESR 45973 Q

2 187 BRZE & B R 48.059 Q

3 172 HH BEFE JIl@ssc 52.246

4 198 2&8 A tEtEESSC 54.977
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EE No. K% E 7R 24 L ik
1 185 ZFith #HKX R 48.609 Q

2 186 HFith HFE B R 48.807 Q

3 182 =W —#t JIl#%SSC 51.387

- 196 £F KARYVY HEERSSC DNF
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EE No. K% E 7R 24 Ls ik
1 183 U@ KEA INBESR 45962 Q

2 194 EZ@E #R AHERESSC 46.403 Q

3 181 #FHHF JIl#sscC 47976

4 169 HAF EXER TEREHP R 53.070
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EIE No. K% E 7R 24 L ik
1 190 HFik 1% A#E[RSSC 45680 Q

2 180 AlE {EEA JilfEssC 46.731 Q

3 163 Ef = EESEER 48.756

4 165 /hith R Li#gssc 56.050

5 166 I GEUE Li#ssc 1.09.755
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EE No. K% E #/a 24 L ik
1 161 #IL KF SIS 45450 Q

2 179 =& EI5 JIl#SSC 45505 Q

3 174 #t#A BF2 FEESSC 51.833

4 197 1WA EX HHERSSC 53.963

748

EE No. K% E B/a 24 Ls B=
1 192 Fk = tHfE/ESSC 47109 Q

2 177 0% B= FAISSC 48.897 Q

3 189  Zgith &R HEEITD 49.946

4 195 FH EiE HIEESSC 51.746

5 171 RRE #EX Jiimssc 55.381

84l

&l No. K% iE ga EEPN iBE
1 191 5@ B3t AfEESSC 45546 Q

2 167 HH K& —=hHESC 46.907 Q

3 188 EREZ E AR 49.999

4 173 K EFREIRSSC 50.462
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592K B No K% g JIE 152 FP BX 1= B0 EX BE
RIS 1 183 W@ KE§ INBER 1 2 1 1 34 44.734
2 161 #EIL XF Espigalir=g=a:il 1T 1 1 2 21 45.076
3 162 &8 1 HIRRESSC 1 2 2 3 13 45.441
4 190 Fik 1% tHEFRESSC 1T 1 2 4 8 45.200
HRE 5 184 BT E INBER 1 2 3 45.316
6 185 Zith #HKX AR PR 1 2 3 46.995
7 191 5H BAE fHE[RSSC 1 1 4 45546
8 192 ¥k B fHE[RSSC 1 1 4 46.514
#rEEB 9 179 = EfS JIlf#EsscC 2 3 45.505
10 194 =@k A fHE[RSSC 2 3 46.403
11 167 HH K& —EHhHESC 2 3 46.776
12 177 365k BX ZHSSC 2 3 47.247
13 180 A& {#EH JIl#EsscC 2 4 46.731
14 193 }IT MK tHERSSC 2 4 46.821
15 187 BRZE & R 2 4 48.059
16 186 #ith AR 2 4 48.807
FE 17 181 $iH Eth JIlfEsSsC 3 47.976
18 163 BFf = EREEEER 3 48.756
19 189 Fith 4 HEYTD 3 49.946
20 188 BERE [E B PR 3 49.999
21 168 [ &0 ZHESSC 3 50.203
22 182 &4 —## JilfEsscC 3 51.387
23 174 #A Gz FEESSC 3 51.833
24 172 FH BEF JiiImssc 3 52.246
25 173 #AK 2 FEESSC 4 50.462
26 195 FH FEiE EEFRSSC 4 51.746
27 164 Hll HHE Ligssc 4 52.944
28 169 AE [EXER TIREAFER 4 53.070
29 197 LA AKX fHE[RSSC 4 53.963
30 198 28 A EEFRSSC 4 54,977
31 165 /pith ER i#ssc 4 56.050
32 171 KM #E JIiIAssc 5 55.381
33 166 )1l s Lissc 5 1.09.755
34 196 €F KRAXRYU2Y HHERSSC DNF
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EIE No. K4 E 72 EREN BE
1 191 5H BX fHE[RSSC 34 1.35.251
2 192 Hik = tEtEFESSC 21 1.35.346
3 162 &2 13 RIKRESSC 13 1.35.685
4 190 Hik 1% tEtEESSC 8 1.36.176
FUBARFEFYLUSHY T a—rSYIRE—R Ry —NEFERS ER22%F1083H

b4 FRAE BF 1000m

) 2 J:\2 1

148
EIE No. K4 g #/a A L BE
1 190 HikE 1% tA1E/RSSC 135902 Q
2 191 B5H B* tHHEESSC 1.36086 Q
3 161 ##IL KF Eafrizp=ad Eene 1.36.433
4 184 FT E INBERR 1.37.540
248
BB No. K4 E ! B4 L k)
1 162 Ewe IR RIKRESSC 137144 Q
2 192 Fik = tEHERESSC 137539 Q
3 183 LU KEH INEER 1.37.731
4 177 £ B&= F4ISSC 1.39.515
FUBARFEFYLUCHY T a—rSYIRE—R Ry —NEFHERS ER22%F1083H

&£ SRAE BF 1000m

R 4 FhiomEH

148
=B No. K4 E B/ BA L BZE
1 183 LUiF KB INEER 133732 Q
2 191 &H B*% tHE[RSSC 133830 Q
3 180 Ale fEER JIfESSC 1.36.200
4 185 Zgith X [Eapsdaakeatsy 1.44.720
248
&g No. K4 i B A4L EE
1 162 &8 1 RRRSSC 136762 Q
2 192 Hik = tHIEESSC 137068 Q
3 187 BREZE R [EaRsdaakatsy 1.38.930
4 186 Zith EHE [Eagsdaakeatsy 1.40.650
KE ;|
&g No. K4 i B A4L EE
1 190 Fik X FHFERESSC 136.133 Q
2 177 EfE B= ZHSSC 136295 Q
3 167 HAHA k& —B=hHESC 1.36.711
- 179 =& EB JI#ESSC Penalty
44
&g No. K4 g B A4L EE
1 161 L KF BRI e & iR 139059 Q
2 184 E£TF = INBERR 1.39.081 Q
3 193 FhT MK tHHEESSC 1.39.140
4 194 =@k R tAHEESSC 1.40.323
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& E No. K4 E /s BA L EE
1 191 5H B tAE[RSSC 140074 Q
2 185 Zth K AR 140289 Q
3 188 HEREZE | [EaRsdeakeatsn 1.43.045

4 182 S —# JIl#EsSSscC 1.48.309

24

EIE No. K4 g B#/a EREN BE
1 193 ot MK tAfEESSC 134676 Q
2 184 HTF B INBER 134882 Q
3 173 K =& EEESSC 1.42.886

4 197 WA AKX tAfEESSC 1.56.806

34

EIE No. K4 g #/a A L BE
1 190 Hik 1% tA1E/ESSC 138362 Q
2 177 B B= ZBAHSSC 138484 Q
3 189 Fih HEYST 1.38.977

4 198 25 @A tAEESSC 1.58.405

5 166 Il 4t Ligissc 2.16.785

448

E=E No. K4 E ! B4 L k)
1 179 =& Bl JIl#%SSC 1.38962 Q
2 167 HAH K —EfHSC 141944 Q
3 168 [ &0 ZHESSC 1.44.459

4 164 HL RE Li#ssc 1.48.654

548

EE No. K4 E B/ B4 L k)
1 162 Ewe IR RIKESSC 137541 Q
2 186 ZFHit HF [EaRsdaakeatsn 141731 Q
3 174 #HE Bz EFRE;ESSC 1.42.830

- 196 £F RRARY4Y HHEESSC DNS

648

=B No. K4 E B/ B4 L BZE
1 183 LA KEH INBER 135192 Q
2 180 :Al& {EHA JilfEssc 1.36.789 Q
3 181 #HH E Jilfgssc 1.39.777

4 171 KR BEX JIIASssc 1.55.611

5 165 /Mt ER Lissc 1.57.993

748

EIE No. K4 i Ba A4L EE
1 161 #L K& SRR S 135245 Q
2 194 =@k 3R tHHEESSC 135981 Q
3 163 E¥ = RESHEER 1.37.763

4 169 HF 1EXER TR PR 1.50.633

sl

EIE No. K4 i Ba A4L EE
1 192 Fik B tHEFESSC 138488 Q
2 187 BREZE & [Eagsdaakatsy 138617 Q
3 172 HHE BEE JiiIAssc 1.44.735

4 195 FH EHig tHtERESSC 1.55.280
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hE4E A BF 1000m

592K B No K% g JIE 152 FP BX 1= B0 EX BE
RIS 1 191 SH Bt fHHEESSC 1 2 2 1 34 1.33.830
2 192 Bk B fHE[RSSC 1 2 2 2 21 1.35.346
3 162 &8 1 HIRRESSC 1T 1 1 3 13 1.35.685
4 190 Fik 1% tHEFRESSC 1T 1 1 4 8 1.35.902
#RME 5 183 LA KEA INBER 1T 1 3 1.33.732
6 161 L KF Eapifealan=as 1T 1 3 1.35.245
7 184 8T B INBER 2 2 4 1.34.882
8 1778k B= ZHSSC 2 2 4 1.36.295
#ERB 9 193 AT MK tEEFRESSC 1 3 1.34.676
10 180 A& {#EH JIlfEsscC 2 3 1.36.200
11 167 HH K& —EHhHESC 2 3 1.36.711
12 187 BRZE & AR PR 2 3 1.38.617
13 194 =@k fHE[RSSC 2 4 1.35.981
14 185 Fith FHK R 2 4 1.40.289
15 186 #ith R 2 4 1.40.650
16 179 =& E[5 JIl#EsscC 1 Penalty 1.38.962
F®E 17 163 BE I EREEEER 3 1.37.763
18 189 Fith 4 HEYTD 3 1.38.977
19 181 FHH Et JIl#EsscC 3 1.39.777
20 174 #MA Gz FEESSC 3 1.42.830
21 173 #AK ¥ FREESSC 3 1.42.886
22 188 BERE [E B PR 3 1.43.045
23 168 [ &0 ZHESSC 3 1.44.459
24 172 5@ [EF Jigssc 3 1.44.735
25 182 &1l —## JilfEsscC 4 1.48.309
26 164 Kl #HE Li#gssc 4 1.48.654
27 169 AE [EXER TIREAFER 4 1.50.633
28 195 FH FEiE EEFRSSC 4 1.55.280
29 171 R B X Jiassc 4 1.55.611
30 197 LA AKX fHE[RSSC 4 1.56.806
31 198 B8 A EEFRSSC 4 1.58.405
32 165 /pth R Ligissc 5 1.57.993
33 166 )1l s Lissc 5 2.16.785
196 £F KRARULY HEBEESSC DNS
Loxl)—

C'XFaT—F
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hEESRE BT

IIESE No K4 g BE SF IBRAE BEEs ESER8E ©1500m (p)500m ()1000m  {EZE
1 190 Figk 1% tHERSSC 50 9 1 229575 (341 (8)4 (8)4
2 183 lLiE KBA INBER 47 9 1 222237 (13)3 (341 5
3 192 ¥k B fHE[RSSC 42 12 2 226183 (21)2 8 (21)2
4 191 §H B}t fHE[RSSC 34 20 1 2.32.656 12 7 (31
5 162 &8 1 BIRRESSC 26 15 3 226531 9 (13)3 (13)3
6 161 L KF Eapifealan=a 24 14 2 225984 (36 (21)2 6
7 184 8T B INBER 8 16 4 224004 (8)4 5 7
8 167 HH K& —EHhHESC 5 27 5 229751 (5)5 11 11
9 185 Zith HK AR PR 30 6 2.29.993 10 6 14
10 193 Bt MK tHEFRESSC 31 8 2.34.670 8 14 9
1 179 =& EB JIlf#EsscC 36 9 224437 11 9 16
12 186 Fith AR PR 38 7 232220 7 16 15
13 177 ik BR ZHSSC 38 8 232560 18 12 8
14 180 A& {#EH JIlfEsSsC 40 10 2.50.758 17 13 10
15 187 BRZE § AR ER 40 12 2.26.247 13 15 12
16 194 =ik A fHE[RSSC 42 10  2.27.919 19 10 13
17 181 #H Et JIlfEsSsC 50 14 2.32.820 14 17 19
18 163 BE = EREEEER 51 16  2.34.654 16 18 17
19 189 Fith 4 HEYTD 52 15  2.34.904 15 19 18
20 174 #MA Gz FEESSC 65 20 2.41.781 22 23 20
21 173 K 2 FERESSC 67 21 241111 21 25 21
22 172 FH BEF JiiImssc 68 20 2.35.426 20 24 24
23 168 [ &0 ZHESSC 69 21 2.41.608 25 21 23
24 188 BERE [E B PR 70 20 2.57.799 28 20 22
25 182 U —## JilfEsscC 73 22 242247 26 22 25
26 164 HLIU $HE Liissc 77 24 250758 24 27 26
27 195 FH FEiE EEFRSSC 85 26  2.58.201 31 26 28
28 169 A% [EXER TIREAFER 85 27 2.48.444 30 28 27
29 197 WA {BEX fHE[RSSC 86 27  2.50.369 27 29 30
30 198 B&E EA tHEESSC 90 29 259730 29 30 31
31 1711 R &EX JIiIlssc 95 29  3.22.020 34 32 29
32 165 /hith ER Lri#ssc 95 31  3.04.106 32 31 32
33 166 )1l s Lissc 99 33 3.06.715 33 33 33

196 €F KRARI2Y HIERESSC 2.46.407 23 34

170 HFA FR IEPESC

175 #H ERX FREIESSC
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